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JIEZ BINE 4 &l i GROSS | HDCP | NET fii = ST BInE 4 [l i GROSS | HDCP | NET {5
B BEm = 50 42 92| 23.0| 69.0 41 fr | gl B 45 41 86 8.0 78.0
GRS R B— 36 36 72| 3.0 69.0 42 fir |[fE% E% 44 41 85| 7.0 78.0
3 7|t 41 33 74 4.0| 70.0 43 fiL|/hr 0 WFH 45 42 87 9.0 78.0
a_fir) kv #c 42 36 78] 8.0 70.0 44 fir | F3& BT 48 46 94 16.0 78.0
5 (0| Rk e 36 38 74| 40| 70.0 45 i | @m #& 47 16 93| 15.0] 78.0
6 (| fBP FEAE 39 38 77 6.0 710 46 fir | AT EH 40 45 85 7.0 78.0
T AL | PEfE R 42 38 80 8.0 72.0 47 {7 | I E =R 46 40 86 .0 80.0
8 P = 41 38 79 7.0 72.0 48 fr | BEH =X 46 43 89 .0| 80.0
9 | iA AHS 44 42 86| 14.0| 72.0 49 i |#E0O #I 47 44 91| 11.0| 80.0
10 {i7| e ful 41 42 83| 1L.0| 72.0 50 {if | A A& 46 49 95| 15.0| 80.0
11 fii | FIE 1T 37 39 76 4.0 72.0 51 {ir | a4 IEAL 42 47 89 9.0 80.0
12 L) R 36 39 75 3.0 72.0 52 {f | sk fE 46 43 89 8.0| 81.0
13 {ir |Faze FF 44 41 85| 12.0| 73.0 53 fif | E&JIl BHA 49 48 97| 16.0| 8I1.0
14 fir | shfd i 41 40 81 8.0| 73.0 54 i | AWy 1HHE 49 53 102| 21.0| 81.0
15 L | A% IE 41 50 91| 18.0| 73.0 55 {if | ¥ VH FEM 42 47 89 8.0 81.0
16 {ir | A fog 40 39 79 5.0 74.0 56 fif | FTEF fEh 53 42 95| 13.0( 82.0
17 | A& B 49 42 91| 16.0| 75.0 57 {if | EA #E 50 45 95| 13.0| 82.0
18 fif [EA EZE 43 38 81 6.0| 75.0 58 fif | #2 R TET) 44 46 90 8.0 82.0
19 fir | @ £k 48 43 91| 16.0| 75.0 59 | FIE 5F 49 46 95| 12.0| 83.0
20 fir | &Il B 48 44 92| 17.0| 75.0 60 {f | el i— 48 51 99| 15.0| 84.0
21 fif |[fEx A IEE 43 41 84 9.0| 75.0 61 i | /HIFEE 3L 47 44 91 6.0 85.0
22 fif |[fEx K 41 42 83 8.0/ 75.0 62 {if | FEph FEFT- 57 52 109 23.0| 86.0
23 fir |FKIL B 47 41 88| 12.0| 76.0 63 (i | B e 46 51 97| 11.0| 86.0
24 L | K& FAT 49 44 93| 17.0| 76.0 64 | HEW F— 65 49 114 18.0| 96.0
25 I |THEE £E 42 41 83 7.0| 76.0
26 ir | &)1 w5 44 43 87| 11.0| 76.0
27 L | BFR Hi— 39 39 78 2.0 76.0
28 fir |[fex AR F& (I 45 40 85 0] 77,0
29 fif | Lk £ 43 41 84 7.0 77.0
30 i | =4 % 45 44 89| 12.0| 77.0
31 AL | ey & 47 47 94| 17.0| 77.0
32 fir ey —3% 47 50 97| 20.0| 77.0
33 i | 5RIE HEM 40 45 85 8.0 77.0
3 AL [Eak = 42 47 89| 12.0| 77.0
35 fir [H)I 15 44 49 93| 16.0| 77.0
36 fir [ FIE 43 49 92| 15.0| 77.0
37 i [ AZE 5L 40 47 87| 10.0| 77.0
38 {if [=H b 44 51 95| 18.0] 77.0
39 {if | xR RAT 48 42 90| 12.0| 78.0
40 fir | (Ligy i 50 44 94| 16.0| 78.0




